



	1. $E \longrightarrow T TT$ $\triangleright TT.st := T.val$	⊳ E.val := TT.val
Attribute	2. $TT_1 \longrightarrow + T TT_2$ $\triangleright TT_2.st := TT_1.st + T.val$	⊳ TT1.val := TT2.va
Grammar for	3. $TT_1 \longrightarrow -T TT_2$ $\rhd TT_2.st := TT_1.st - T.val$	$ ightarrow TT_1.val := TT_2.va$
Constant	4. $TT \longrightarrow \epsilon$ $\triangleright$ TT.val := TT.st	
Expressions	5. $T \longrightarrow F FT$ $\triangleright$ FT.st := F.val	⊳ T.val := FT.val
based on	6. $FT_1 \longrightarrow *F FT_2$ $\triangleright FT_2.st := FT_1.st \times F.val$	⊳ FT1.val := FT2.va
LL(1) CFG	7. $FT_1 \longrightarrow / F FT_2$ $\triangleright FT_2.st := FT_1.st \div F.val$	⊳ FT1.val := FT2.va
	8. $FT \longrightarrow \epsilon$ $\triangleright$ FT.val := FT.st	
	9. $F_1 \longrightarrow -F_2$ $\triangleright F_1.val := -F_2.val$	
	10. $F \longrightarrow (E)$ $\triangleright$ Eval := E.val	
	11. $F \longrightarrow \text{const}$ $\triangleright$ Eval:= const.val	3







LL(1) Attribute	$E \rightarrow A \Sigma E$ $\Sigma E. at = A.val E.val = \Sigma E.val$ $\Sigma E_{i} \rightarrow  A \Sigma E_{i} $ $\Sigma E_{i} \rightarrow  A \Sigma E_{i} $ $\Sigma E_{i} \rightarrow  A \Sigma E_{i} $	
Grammar	EE.val = EE.st	
	λ - B AA AA.st = B.val A.val = AA.val	
	$\lambda A_1 \hdots \hdots A_1$ , $h \in B, \lambda A_1$ , $h \in A_1$ , $h \in A_2$ , $h \in A_1$ , $h \in A_2$ , $h \in A_1$ , and and h \in A_1 , and h \in A_1 , and and h \in A_1	
	λλ → ε λλ.val = λλ.st	
	B C BB BB.st = C.val B.val = BB.val	
	BB <sub>1</sub> \$ C BB <sub>2</sub> BB <sub>2</sub> .st = BB <sub>2</sub> .st \$ C.val ( "\$" bitwise AND ) BB <sub>1</sub> .val = BB <sub>2</sub> .val	
	$BB \rightarrow \epsilon$ BB,val = BB.st	
	$C_1 \sim < C_2$ $C_1.val = C_2.val << 1 \qquad ( ``<<`' bitwise shift left one )$	
	$C_1\to>C_2$ $C_2, \text{val}=C_2, \text{val}>>1 \qquad ( ``>>'' bitwise shift right one )$	
	$C_1 \to \neg C_2 \\ C_1 \text{,val} = \neg C_2 \text{,val}$ ( " $\neg \circ$ bitwise NOT )	
	C ( E ) C.val = E.val	
	C - hex 7 C.val = hex.val	





















## **Operational Semantics Definition Process**

- 1. Design an appropriate intermediate language. Each construct of the intermediate language must have an obvious and unambiguous meaning
- 2. Construct a virtual machine (an interpreter) for the intermediate language. The virtual machine can be used to execute either single statements, code segments, or whole programs

N. Meng, S. Arthur









N. Meng, S. Arthur

23

## **Denotational Semantics**

• Key Idea

- Define for each language entity both a mathematical object, and a function that maps instances of that entity onto instances of the mathematical object
- The basic idea
  - There are rigorous ways of manipulating mathematical objects but not programming language constructs

N. Meng, S. Arthur

4

24

26

## **Denotational Semantics**

- Difficulty
  - How to create the objects and the mapping functions?

N. Meng, S. Arthur

• The method is named *denotational*, because the mathematical objects denote the meaning of their corresponding syntactic entities Denotational vs. Operational

- Both denotational semantics and operational semantics are defined in terms of state changes in a virtual machine
- In operational semantics, the state changes are defined by coded algorithms in the machine
- In denotational semantics, the state change is defined by rigorous mathematical functions

N. Meng, S. Arthur









Example Semantic Rules			
Syntax Rules	Semantic Rules		
<pre><bin_num>-&gt;'0' <bin_num>-&gt;'1' <bin_num>-&gt;<bin_num> '0' <bin_num>-&gt;<bin_num> '1'</bin_num></bin_num></bin_num></bin_num></bin_num></bin_num></pre>	<pre>Mbin('0')=0 Mbin('1')=1 Mbin(<bin_num> '0')= 2*Mbin(<bin_num>) Mbin(<bin_num> '1')= 2*Mbin(<bin_num>)+1</bin_num></bin_num></bin_num></bin_num></pre>		
N. Merg. S	Anhur 31		





















• Recursion is easier to describe with mathematical rigor than iteration

N. Meng, S. Arthur





